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Point–slope Form 

Find the slope of the following lines. Name a point on each line.

1) 𝑦 = 2(𝑥 + 3) 

2) 𝑦 + 4 = 
ଵ

ଷ
 (𝑥 – 1) 

3) 𝑦 + 3 = – 1.5𝑥 

4) 𝑦 – 3 = 
ଵ

ଶ
 (𝑥 – 2) 

5) 𝑦 + 2 = 0.4 (𝑥 + 3) 

6) 𝑦 – 8 = −3𝑥 

7) 𝑦 – 12 = – 3 (𝑥 – 8) 

8) 𝑦 + 14 = 0 

9) 𝑦 + 18 = 2 (𝑥 + 5)  

10) 𝑦 – 17 = – 8 (𝑥 – 3) 

Write an equation in point–slope form for the line that passes through the 

given point with the slope provided.

11) (2, −3), 𝑚 = 4 

12) (−7, 4), 𝑚 =
ଵ

ହ
 

13) (0, –  6), 𝑚 = – 2 

14) (−𝑎, 𝑏), 𝑚 =  𝑚 

15) (–  9, 1), 𝑚 =  3  

16) (3, 0), 𝑚 = −5 

17) (−4, 11), 𝑚 =
1
3

 

18) (0, 11), m = 0 

19) ቀ−
ଵ

ଷ
, 3ቁ , 𝑚 =

ଵ

ହ
 

20) (0, 0), 𝑚 =  −3 
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Point–slope form

1) 𝑚 =  2, (– 3, 0) 

2) 𝑚 =
ଵ

ଷ
, (1, – 4) 

3) 𝑚 = − 
ଷ

ଶ
, (0, – 3) 

4) 𝑚 =
ଵ

ଶ
, (2, 3) 

5) 𝑚 =
ସ

ଵ଴
, (– 3, – 2) 

6) 𝑚 =  −3, (0, 8) 

7) 𝑚 = – 3, (8, 12) 

8) 𝑚 =  0, (0, – 14) 

9) 𝑚 =  2, (−5, – 18) 

10) 𝑚 = – 8, (−3, 17) 

11) 𝑦 + 3 = 4(𝑥 − 2)  

12) 𝑦 − 4 =
ଵ

ହ
(𝑥 + 7) 

13) 𝑦 + 6 = −2𝑥  

14) 𝑦 − 𝑏 = 𝑚(𝑥 + 𝑎) 

15) 𝑦 –  1 =  3 (𝑥 +  9) 

16) 𝑦 = −5(𝑥 − 3) 

17) 𝑦 − 11 =
ଵ

ଷ
(𝑥 + 4)  

18) 𝑦 − 11 = 0 

19) 𝑦 − 3 =
ଵ

ହ
ቀ𝑥 +

ଵ

ଷ
ቁ 

20) 𝑦 = −3𝑥 

  


